
�������2�
�

���	
���
�������������������
�

2.1������	
���������������������
 2.1��������
���:������ �
!��
!�"��
��������� (Pineapple)�	
���
��������������������� Ananas comosus  (L.) Merr.��������
�
 �!"������ Bromeliaceae���#���$%�������&�������'�"����������$�"�!� �!	$�������(���$
��	
�
���"�!)�����������*�
������&�����+���)�������������	
�����$����+����)���+������!�

����'��15-30 �����	
�
�����'��40-60 ����������$�,������-�
��������#������.�-	+!�	
!�
/���)!����	
�����
�����������&���&�/�������������)!��'������� ����&�	����������0�-�������(�
�+���
�	
��
'$������$�������������1��2���������� �!����-�
���34$������%�/�5
���+�6��"�
���/!�$���$3��+
�$)�������� ���(����������"�, 2545) 

���������	+
���-���
'$�%�/�5��'�������+���������/���)��7����$��&�$�������'�	#�
���+���������

�2����-
��2���$�5���2���	
���
�2���,������$�.�-"�$���
'$�����(�1.2 
!��
 �����-�&�����$0��$����	�������'�"�
����4-6 	�� ���	
����
�
��,����������(�2.0-2.2 
!������
�8
��������(�3.5 ������ �����&���&�
�
�����������$�'��
�� �!��&��9�	�����������(�'�"�
���
���������/�--:3.�/��	
������-:���$���-7����/���
��)�����������	�����$�����
��
"�������	
��
��������������
�
�����������&�+������$�����,./"�������"��'��
��
/�������!��
��26 ,����$/!��
��70 ��#'$����)!�,�����	���'������������$���;��	
��� 

�&%���������-��������$ �����
�������������������$�!��
��4 ������$�������$
�������"��'��
���,������
���������$���;��)�� ���������(�35 ,������,����$%�
��$��
�
����&�+��"��9�2546 �����(�483,073 ����	���
�����������(�268,495 ����+����!��
��55.58 

)��$%�
��$���
���($�������2���+$���, 2546) 

$�������$3��	
��+$�(��(2547)  �!��2� �!�����2���+$���	���'������������
�2���+$��������/����
����,��$����+����.�/�$3��$���	
��2���+$������$��"+!�$���'
/���-���
	$����#2�����$.�/�$3��$�������������&������#�%���	���'������
��.�(<� �!+
���'�	���



6 

,��,/����!���2���+$������������&����$���!������+
�$�3 ���� �!	$��(1) �����!�
�&%�� �!	$��$3��$��'!�
'$��������(2) ����$
���&%� �!	$��2���+$���	���'�	
��'!���$��$���
	
��(3) �����
���&%� �!	$��
�������$����������	
��
��"��������	
������������=���$
�!��
��33 (Food Insight, 2547) 

�$�����+�����$��)���$3��$��$����)!��$��$���-���
'$�	
��$0��$�������&���&�����������
"��(2545)  �!��2�+
�$$��+�������$���>���������$3�������	
��+������ (GAP)����	�����
)��$
2�����	���'!/!��
�$��$�
 �!��)��$
2�����
�/��2,��� (The Euro Reatailer Group : 

EUREP)�*6��/���/
2����$�������=� �!	$��(1) -��72��
'$���!�������/2(.�-��
0�-��72��/���
�!�����,�/	
�	�
��$��/
2$��
0�-��72���!�$
!� �!	
�-�
���������-��72$���� (GMO) (2) 

�������-�&�����-����
'$	
�$�����+�����$�����!��������������-�&�����-���
'$	
�$���
'$-�

+�2�������(3) ���	
�$�����$���$���������������$���%�� $3��$����$��-���
��)�����	
�$��
����/�������!������/���(4) $��"
!�2;����!������������+�����-�
�!��$���)!�	���%��$����$��
���
	
������(�2;����"
!�$������6$���������
�+��������/���#��"�$��"
!�����������(��� �����
	
�?���?�"��&%�"�!����$��"
!�/�����+�����2;���$0���$3��2;�	
��2;���$�'

��.�-�(5) 

�������
��!�������$���������/����!��$���&%������

������	
�/2(.�-�&%��(6) $���@��$��$%����
����'-�
���!���������7��>���������$�����$������'-�
	���������� (IPM) ����
��$"�$��"
!
����/��"�$��$%��������'-�
�)!�	���%��$����$�������($��"
!	
�
���)������/�������6$$��"
!�
$������	
�)!�	���%��-���/����
��.������&��@��$����+����-������/�������$����$0��$�����
�/�����-������/���$�����$��$������/������+
����$$��-���$�����/���+����$%��������'-�
�$/!���
$���$0���$3�����/��$%��������'-�
�.�
������2����/�����"
!	
!�	
����$%��������'-�
���+�����2�
(7) $���$0��$�������!��������2)
�$3(�	
�.�
������2�(8) $���'	
�
���
+
��$���$0��$�������!�
������$��"
!����%����	
�$��
%���
!���
���
�(9) $��$%����)������	
��
.���	
�$���%�$
����
"
!"+�����!��������������)������	
��
.���	
�	��$��$%����)������	
��
.����(10) 

�2).�-�/����
��.���	
�������.�-)��/�������!�������$��AB$�����$����������$���
�2)
�$3(�	
�������$���	
��(11) ����$������	��
!�����!��������
$���������������$$��
�-���
'$��,��������-��72�������C�	
�	�
��!��+������������ ���%����,�
���

�
�
�

�
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� 2.1.2���
����##"�"�$%&��"�����
���������"��
 ����$�����$������������55�$��*�&�)���������
���+�!��  �'!�
�����%���55�+���

)!��$
�����$���$3��$�"�$��*�&�)�����#2������$���$3��  ,�����%�$��$%�+����/� �!

���+�!�  *6��
���	$!�15+�)������,*��2����)��)!�)�����/!��$3��	
���+��"�+
���!��=  

	
������#�������������
�&���  �
������#2���$���$3����/2(.�-���/
!��$��)!�$%�+������'!*�&�
�!��$�� $��)�������#2������� ����)!�$%�+������'!*�&��!��$��	
���������
�����+�����  �����(
$���-���
'$	
��-���
�&������ ������+�����  	
����/!������#���$
�� �!  ��������$$���%�
����?������55���&��'!�
��+���,������2���+$���*6��"$
!
��$���'!*�&�+����'!���,./"�
������������$$�������/���	����%�#'$�!��"�)!�$%�+��  $D�$(<�����=  �����&��)!�#6������(
/����!��$�����/!����	�!���� 

$���%�������55�$��*�&�)���������
���+�!� ������
���"+!�'!�
��+����'!	���'����/!�
�����#/��/2�+�������#���)!��'
)���������#'$�!��"+!	$��$3��$��'!�
'$������� �!�������
������7�.�- *6�������
"+!�����������$3��$������'!�
������ ����)!�$%�+��)���'!*�&���&�	�� �����
�-���
'$�������  
���"+!$��/��/2������($���
'$	
�$���
��� �!
���"+!$��)�������/!�
���� ��������������7�.�-�	
�����$�.�-�-���-����$�������&�������������#���$
�� �!)��
���/!� ������
���"+!�����#"
!�2�$�(��/�������$�  	
������%����/�������$����=  �
�� �#)����
+����2�$�(�$���$0��$��������$�� �!��$��$��& ������55�*�&�)���������
���+�!��( Contract 

Farming) ���
���"+!�����#���	��$��)�������������$ �������,����� �!�������������7�.�-
�����#
���"+!/��/2��%����/��&�$��)����  �����(�#)����"�����
��%����$��)������� ��
��0�/���#  	
���������#
���
��%����/��&�$��)������������
��)���$3��$�
� �!  #6�	�!����
��55�*�&�)���������
���+�!��( Contract Farming)��������&����������������$"�$��
���"+!$��
���$������,*��2����	
�,
�����$��)��)!�)������������� ��������������7�.�-������ �$0
���������55�*�&�)���������
���+�!�(Contract Farming)$0��)!����� �!��&�"��!���$3��$�	
�
�'!�
�� �
�� ����%�"+!�'!�
�����%����������	
�/��/2��$3��$� �!��$)6&�  �
���,�
������"+5�
���$��'�����'!�
��  +���"�$�(������/����/!�"��
���'�$�����/����$������'!�
��"+! �!	$��$3��$�  

�$3��$������ ��)�����/!�"+!�'!�
���������$
�$�� �!  
��$$���6$3���$���($����	
�)!��'
����$����)!������������+�2�
"�$���
��$������)!�����

������55�*�&�)���������
���+�!�)���$3��$������1������������7�-
��������/����$
�#��.�-���� �)���$3��$����� �!	$��
������2)���$3��$��������$��(�$���
'$��������
�����$���6$3�)���$3��$���%�������
�$"�/���/������
����%� ����������
�$3(�$��#��
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/�����������$������'!)!��'
)����������=����$����)!��$��$���
���������������!��	
���$��������
/���-6�-�"���� �!�����$$���)!�����������55�*�&�)���������
���+�!�	
!��%�"+!��$3��$�
 �!�
�
�������/2(.�-��)6&�������/����!��$��)��,������'!�
���������$���;���������
����������$$���>��������)!�$%�+�����������2"���55�$��*�&�)���
�
��
���+�!�������
$%�+��"+!�$3���2$/�����$
��%���55�$��������3��+���,������'!�
��������$%�+����&������(
$���
����� ���������
�$��"���2;��"+!�&%���
����
�����
�$���
'$�$���$0��$����"+!	$��$3��$�
�-���"+!�����������
����$�����������������������(��� ����� �$/!���!��
�+��� �����
��	
�
)���)��
'$ ���
0$���$�� ��
�����
��$0��$������'�"�
���������������������&%���
��'�"�
��������'�
"����������4�����$��&��$3��$�������#6�/����'!��� �!�����$$��	���%�)���'!�
����
�5��$���
���3��/'���55�"���7�$���
�����#'$�!��+�����7�$���
����� �!�
��$�������,��$��	���%�/����'!+���
��/,�,
��"+��"+!���$3��$��'!�
'$��������� �� �!���/���������"�/��� ��	�����)����&�
�����(�����������
'$�������$+����!���$��/����!��$��)��,������'!�
��+��� ���	
��� �� �!
/�������������$��)6&���$$����
����	�
���/�)���������+�!�,��������/���/��� ��	��������
�$��)6&���$�2���/�	
��2����"�)(���&����������$��$���$
�$���������	�����$��,������'!�
��
�������$���;��"�������)�������($���
����������	
���/�)�������������$
�*�&�)��

���+�!�����$
�$��	
!��+���$������)!�����������55�*�&�)���������
���+�!�����%�"+!�$3��$�
��/�������
���#�������$)6&��-���)�$'!������$����$��������
��2��-������������2�"�$���
��
�������"+!	$�,������'!�
���������$���;�������$��	
��+�2�
)��$��������"� ���)!�����
������55�*�&�)���������
���+�!�)���$3��$������$$�������$3��$����"�	��)��/��� ��
	���������$����$.��7���
����%�"+!�
�
�����$���$3������+���+���$��������!���>��������
)!�$%�+�����$%�+��"���55�)!��$
���&���%�"+!�!��"
!�!��2���$)6&�	
���$��&����55�$��*�&�)��
�������
���+�!����������55��������)6&���$���3���-���AC���������6�����������$��#'$���������
�������*6�������+�2�
+�6������%�"+!�$3��$�������"� ���)!�����������55�$��*�&�)���������

���+�!�$�����,�����+������3���'!�
������-��$���;�������$ 
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� 2.1.3�'"!�("����������)��"���
�"�*���"���"�	+,-"/)��
����##"�"�$%&��"�����
��
�������"��

 ����$�����+�����$���!��/2(.�-)���2���+$�����+������%�/�5 �!	$��$���>�����
���$���$3��������%�+���-�
 (Good Agriculture Practices : GAP) +
�$�$(<���7�$�������"�$���
���
(Good Manufacturing Practice : GMP)�	
�����$�����/���+��������	
��2���$:������!��/��/2��
(Hazard Analysis Critical Control Point : HACCP)��,�������&�+�,����2������& 

 

� 1)�4556�789;<=>?=9@�A9B<?;<@C�D47AE�
����$���>��������$���$3��������%�+���-�
�( GAP) ,�� �!$%�+��)!�$%�+��  $D�$(<�

	
���7�$��������������*6������ ����+
�$$��������/
!��$��� GAP ���+
�$$����$
��-���"
!
��������4��$���
��-�
"������?����)��������  �����&� �!����%�/'����$���-���
'$-�
���
+
�$�GAP �%�+���-�
����%�/�5)�� ���%�����24 
�������$���!��  

��
 �!� �!	$���2�����  
%� ��$
!�� �!����������!�,���������	
��!��)���+��� 

-�
��$� �!	$�����)������+��� �!A�������$/��!��+��+��"+5��$�+
�%��
��-��$ 

#���A1$����#���
����� ��$$��)���
��)!��,-�A1$�����+��+���
��	
�+��+��	����
 �!��$� �!	$��$
!�� �!�����$ 	
���2��� 
-�
����=� �!	$�� $�	?,�����!� ����%���+
���	
����-��� 

$�����������������GAP )��$����
�$���$3�� �!	�����$�����3 �����������&  
(1) $�����$���
����� �!�
���
�
��.��  

(2) $�����$����� �!�
���
�
��.��	
��
��.����$����'-�
  

(3) $�����$���
����� �!�
���
�
��.�� �
����$����'-�
	
�/2(.�-�������-6�� 
-�"�)���'!���,./  

0�,���1�������"
!"�$�������������	�
��
��)���$3��$��-���"+! �!�������$��
���$��/2(.�--�
 “�$3��������+�����” (GAP) ��$���������������!�� 8 �1�����/�� 0

�������$3��$��>����������&�  8 �1����	
!���� �!���+������	+
���
��-�
� “�$3�������
�+�����” (GAP) .��"�!��5
�$3(�� “Q” )(���&$����
�$���$3��$%�
���(��/�"+!�$3��$��)!�
����,/��$�� ,��)����$�����������	�
��$3��$��*6�������#���	��?����-�!��$������"�/%�

 	+
���&%� 
-�&�����
'$ $��"
!���#2����������$���$3�� $���$0���$3�	
�)��!���
�
��.��"�	�
� $��
����6$)!��'
 $���
��"+!�
����$����'-�
 $�����$�����$���
���-���"+! �!�
���
/2(.�- 	
�
$���$0��$����	
�$���>�����+
��$���$0��$����  
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)� �!�( +���������.�.-. ��&��8 �)���-���"+!�'!�������	�
��GAP (Inspector) *6������'��400 �������
��������)!� ��%�$��������� �!  

�
� 2E�4556�FBG=HB<?=9;G8�A9B<?;<@�D4FAE�

GMP�/���+
�$�$(<���7�$�������"�$���
���*6���%���$���/(�$���$����+��	
����
$��������7��(�2)��%������/��"
!����$D+���$����+���57 
�������#6��������$���;��������
��&�	���24 $�$D�/��2544 ,��$%�+�� �!"����$��$��������7��(�2)�(8�������193) -.�. 2543 

���������7�$���
����/����������/�����"
!"�$���
���	
�$���$0���$3���+���*6������$��&��=����� GMP 

�2)
�$3(����� ��	
��������%�/�5�6 +���+�'�� �!	$��(1) �#�������&�	
���/���
���(2) �/���������
�/�������$��	
��2�$�(�$���
���(3) $��/��/2�$�����$���
���(4) $���2)�.���
�(5) $��
�%��2���$3�	
�$���%�/���������(6) �2/
�$�	
��2)
�$3(��'!�>�������� 

 

� � 3)�I7JJA�DIBKB96�7GB>LC;C�J9;?;<B>�J5G?95>�A5;G?E�
  HACCP (Hazard Analysis Critical Control Point)�/�������$�����/���+��������
	
��2���$:������!��/��/2��"
!�����/��������"�$��
�&�8-�����������������	
�/��/2�������������
,�$���$��)6&�"�$�����$���
��"+! �!��+�����������$���������$�
�&��2
�����������/���	
�
����	�
$�
�������=��������3	$!��,
+�������!��(��$. 7000,2540) 

������ HACCP���+
�$$���7 )!������!���>��������������2"�����4����+����
�������	
����������
�$ �!�6�#������	���������2$��"
!,�����/
!��$������,
$������& 

 1)��%�����$������/���+���������(Conduct a hazard analysis) 

 2)�+��2���$:�����!��/��/2��(Determine the Critical Control Points : CCPs) 

 3)�$%�+��/����$:��(Establish Critical Limit) 

 4)�$%�+�������-��������������$��/��/2���2���$:������!��/��/2�� (Establish a 

system to monitor control of the CCP) 

 5 )�$%�+����7�$��	$! )���������-������2���$:�����!��/��/2��8-���2�"��2�+�6�� ��
��'�.��"�!$��/��/2�� (Establish the corrective action to be taken when monitoring indicates that 

particular CCP is not under control) 

 6)�$%�+����7�$����������-���������������7�.�-$���%��������)�������
HACCP (Establish procedures for verification to confirm that the HACCP system is working 

effectively) 
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 7)�$%�+����7�$������$0���$��������$����)!��$����7��>�����	
�����6$)!��'
�����=����
�+���������+
�$$���+
����&�	
�$������2$��"
!� (Establish documentation concerning all 

procedures and records appropriate to these principles and their application) 

 

� 2.1.4�������"���
'",	�"���*N"���O�O�����'�!�����!"'��P�!������+��  DQC?;RB?;5G�
5H�S@89@CC;5G�F56@>C�T;?U�V=RRL�V@W@G6@G?�XB9;BY>@CE 
   "�$�������/������-��7�)�����	��,��"
!��$��#�#����&�"����
�$3(���
-��������	������( Dependent Variable) ����
�$3(��������	���
��/2(.�-�( Qualitative) *6��
���$���!����2  ����
��$��+�����$$������
��$���
��$��&��$����������/,�,
��)���$3��$�$��
�)!��������
�$�+$�(�$���$3��)���$3��$��$���)!��������
�$$
2��	���!���$3��$���$���
��$
��7�������� ��%���������������#��
���# ?��#�����+�����$����������!��	���%�
����������	��
�������
�$3(��
����&������#��"
!��7�$�������(/�� �!�3 ��7��/���1) 	���%�
��/������������
�
����!��(Linear Probability Model)  2) 	���%�
��,-�����( Probit Model)  3) 	���%�
��,
����
(Logit Model) "������&���7�����8-��	���%�
��/�������������
����!�	
�	���%�
��,
���������&��

1)����*N"���	�"'��"*
��P��Z
������D[;G@B9��A95YBY;>;?L��F56@>E�  
   ����	���%�
��������	���������)!��'
�
��/2(.�-	
���/�� �!�-�����2  /���+�����2  

����
��$��
���“"
�”�+����“ ��"
�”� �� �!��$����������
)�����	���%�
����$��#�#��*6�����	��
�������)!��'
�
�������( 

���2����������	���%�
����������������& 

      yi  =  � + �Xi + ui (2.1) 

 ,������ 
  yi  =   1  #!�/������������i *�&��#���� (*6������������	�����"�
�$3(������=���$$0 �!�

�
���#!�/�����������*�&��!��������!�)    

  yi  =   0  #!�/�����������  i  ��*�&��#����  (+���/������������ i� ��*�&��!�������������
)!���!�) 

  ui  =   /��/���/
���/
�����( Error Terms) +�����$��	�$	�����������	
���
/���8
�������$���'���  

    	���%�
�������$���(1) ��&����$����“	���%�
��/�������������
����!�”����$��$��
��������#+�/��/��+���	���������� )�(Conditional Expected Value) )��/������$�2)��  
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���	�����	��
�����yi  ,��$%�+��/�����	���7�����( Explanatory Variable) +������	��������
(Independent Variable) "�$�(���&�*6��/��� xi   ��"+! �!�����&��  

   E (yi �xi  ) = � + �Xi   (2.2)  

	
���������$ yi  ���-����2 /��������&����� �!$
��� �!)!���!��/���1 	
��0 �-���8���&���������#�����+�
$��	�$	��/������������)���yi �,��$��"+! 
  Pi  =  /����������������yi  =  1 *6���)����!����5
�$3(��� pi  = prob (yi  = 1) 	
� 1 – pi  =  

/����������������yi  =  0  *6���)���	���!����5
�$3(��  pi  = prob (yi  = 0)  *6���yi�$0����$��	�$	��
/�������������(Probability Distribution)  �����& 
     yi =   /�������������(Probability) 

     0 =  1- pi 

     1 =  pi    

  ��$$��	�$	��/���������������$
������������#+�/��/���/��+����( Expected 

Value) )�� yi �!�����& 
     E(yi)  =  1 – (pi) + 0 (1 – pi) = pi                        (2.3) 

���+0� �!���/��/��+����(Expected value) )���yi���$��$���(2.2) 	
��(2.3) /��/�������$���
�-���8���&���$��  (2.2) 	
��(2.3) �6�����$����-���8���&������ �! 

  Pi  =  � + �XiE (yi �xi  

iy

)   (2.4)                             

 ����/��/���/��+���	���������� )� (Conditional Expectation) )��� ���$	���%�
���
(2.1) /���/������������	���� ������ )�(Conditional Probability) )��� iy ���������(Gujarati, 1995:540-

542; Pindyck and Rubinfeld, 1998:298–300 �!��"������$��E������25�����, 2546: 240) �,����2�	
!����
��$���)���	���%�
��/�������������
����!��� (Linear  Probability  Model) ,��"+!���	���������
/�������������(Probability)  �!�����& 

 � + �Xi  0 < � + �Xi < 1 

                Pi  =    1  � + �Xi  > 1                  (2.5) 

 0  � + �Xi < 0 

                                          

(Pindyck and Rubinfeld, 1998: 300 �!��"������$��E������25�����, 2546: 241) 

   



13 

  ��$�(2.5) � + �Xi  =  Pi  ����/��/������������*6����/����'���+�����0 	
��  1 �	��$� �
�����(/�� Pi��!��� � + �Xi *6��
�$3(�������$����!����)���Xi ��&��#!�� Xi���/���$��
������
�+�����
���+�6��	
!�/��  � + �Xi �����/����$$����1 +����!��$����0 *6������$����� �!/�������(
/������������)��$���$���+�2$��(�+�6���!��/�������%�$����0 +����'�$����1 *6�� �����+�2���
   

�15+�"�$�������(/��	���%�
��/������������� (Linear Probability Model) ,����7�$��$%�
��
����!������2�����5�(Ordinary Least Squares: OLS)  

   (1)  �15+�$��	�$	��	�� ���$���(Non-Normality) )���ui  

          ,���:3D�	
!�������������������(/���OLS (OLS Estimator) ��&�+��� �!,�� 

 ui  =  yi  - � + �Xi   (2.6) 

*6�����+0� �!�����������  

 yi  =  1���������� �!�����ui  =  1 - � + �Xi   (2.7) 

	
���������� yi  =  0 ����� �!���� ui  =  - � + �Xi   (2.8) 

  *6�����+0� �!���� ui  �� ����$��	�$	��	���$���*6��	�!�������	
!�� ui ���$��	�$
	��	��������� (Binomial Distribution) (Gujarati, 1995: 542–543 �!��"������$��E������25�����, 
2546: 241) ����� �$0���$�����)!����2���$����$��$��	�$	���$��)���ui� ���������� ���������$>��&�
����� ��"
���������%�/�5��$��-����������������/�������(	���2��!����7�� OLS (OLS Point 

Estimates) ���/��“ ����������� (Unbiased)” ���$��$�������)���)�����������-���)6&������ ���%�$���
��������#��-��'��� �!������������(/���OLS ��	��,�!��������$��	�$	��	���$����-���8���&�
"�$�(��������������)���"+5�$��
�/����+0�"��
���#���� (Statistical Inference) �$����$��
	���%�
��/�������������
����!��(Linear Probability Model) $0������ ����$�����$��)���OLS 

.��"�!)!����2���$����$��$��	�$	���$��)���ui 

  (2)  /���	������)��-���/��/���/
���/
�����(Error Terms) ��
�$3(�	�$����$���
(Heteroscedastic) 

  ��$$������ui ����-���/�������$�������2.7 	
��2.8 

 1  =   � + �Xi  + ui�������*6��/��������ui  =  1 - � - �Xi   (2.9) 

 0  =   � + �Xi  + ui�������*6��/��������ui   =  1 - � - �Xi    (2.10) 
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�-���8���&�$��	�$	��/������������)���ui������#�)��� �!�����& 
 yi ui /������������ 

 1  1 - � - �Xi  Pi 

 0   - � + �Xi   1 - Pi 

�����+�/���Expected value 	
�/���Variance ,�����/����Expected value��)���ui ��/�������0 

E(ui) = (1 - � - �Xi) Pi + (-� - �Xi )(1 – pi) = 0    (2.11) 

	
�+�/��)���pi�	
��1 – pi ��$��$������2.11��� �! 
 Pi       =  � - �Xi        (2.12) 

    1 - pi     =  1 - � - �Xi   (2.13) 

/���Variance�)���ui +� �!��$ 

       Eui
2 =  (1 - � - �Xi )

2pi + ( - � - �Xi)
2(1 – pi)       

          =  (1 - � - �Xi )
2 + ( � + �Xi)

2(1 - � - �Xi )       

=  (1 - � - �Xi )
2 (� + �Xi ) = pi(1 – pi) (2.14) 

*6��$0/���Eui
2  =  � i

2 = var (ui) = E(Yi � Xi)[1 - E(Yi �Xi)] = p(1 – pi) (2.15) 

(Gujarati, 1995: p543; Pindyck and Rubinfeld, 1998: 300 �!��"������$��E������25�����, 2546: 242) 

  ��$��� (2.15) 	���"+!�+0����/��/���/
���/
����� (Error Term) ��/��/���
	������ ��/����  /������$������/����pi���)!�"$
!� 0 +����1�����/��/���	������,�������������
��%��"�)(����/������$��������p i

iŷ

�"$
!� 0.5�����/���	�� �����'�$���� (Pindyck and Rubinfeld, 

1998:300 �!��"������$��E������25�����, 2546: 243)  

 (3)  �15+�� ���$��$
����0�	
��1�*6�� �����/
!��$�����	���y �����'���+�����0 	
��1 
Johnston and Dinardo (1997: 417) 	
��Pindyck and Rubinfeld (1998: 301)  �$
��������2���������%�/�5
��$)��	���%�
��/�������������
����!��(Linear probability model) $0/������	���%�
����& �� �!��
)!��%�$���(Constrain) "+!/���%�����(*6��/��� iŷ ) �$��'�"�
����0�	
��1���&�=����,���:3D�	
!��E(Yi � Xi

iŷ

) 

"�	���%�
��/�������������
����!�*6�����/������������	���������� ))���+�2$��(�� (Event) y ���
�$��)6&������� x #'$$%�+����"+!���!���$��'���+����� 0�	
��1�	��$0 ��������"��� ������$�� �!����  

*6��$0/����������(/���(Estimators) )�� E(Yi � Xi) ����'�"�
����0�	
��1����$
����� 
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 (4)  �15+�$�������(/��/���
���(Slope) ����'��$�������(Overestimated slope) +�����%� 
�$������ (Underestimated slope)���15+�����%�/�5��$��$�15+�+�6��)��$�������(/���(Estimation) 

	���%�
��/�������������
����!� (Linear  Probability  Model) �!����7�$%�
������!������2�����5�
(Ordinary Least Squares) $0/���/��)��/���
����� �����(/�� �!��������/���'��$��/������������
(Overestimated Slope) +�����%�$���/������������ (Underestimated Slope)  �!�#!�+�$���/������$��
(Observations) ����
��$��+��� �!����&���/2(
�$3(�����%�����(/��/���x) �����/���2�,���+����
���2��
(Extreme values) �����%������$�$�� ��%�"+! �!/�������()��/���
��� (Slope Estimate) ��$��7�
$%�
������!������2�����5� (Ordinary Least Squares) ��/����%�$���/����������� �!� Pindyck and  

Rubinfeld (1998: 302) $
���#6�$�(���&�����/�������()��/���
����$��7�$%�
������!������2�����5
(Ordinary least squares slope estimate) ��� �!���"�$�(���& ����
�$3(��“���������(Biased)” ���������$
����$�������(/��/���
��)��$��#�#�����	�!����� (True regression slope) ��%�$���/������������
	
�"�������$��)!��$��#!������/������$��(Observations) *6����/���x������
�$3(��$��$
2��$�����$
���
(*6�����$��)!��$��$�(�	�$*6������$�(��
���2�+����2�,��������%������$�$�� � ) /��)��/���

���(Slope) ��������(/�� �!$0����
�$3(��'��$��$���/������������(Overestimated)  

����+0� �!���	���%�
���
����!����2�����+
�����$���!��$����� �!$
�����	
!�)!���!��
�-���8���&���� ���&�������-����(�����
��$������
���	���%�
��,-����� (Probit Model) *6�� 

����$���	���%�
�����/���+�	��,-����� (Probit Analysis Model) 	
�	���%�
��,
���� (Logit 

Model)  
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\E�������*N"���]�*
��D[58;?��R56@>E�
 ��$	���%�
��/�������������
����!����$
�����	
!��*6����)!��$-����/���)!����$

,���8-��$��������%�"+!/�������(/��������������'�"�
����0 #6��1 ������&������6��%�
	���%�
��,
����( Logit Model)���"
!"�$�������(/��	���*6�� �!/�������()�����	��
�����'�"�
���� 0 – 1 	���%�
��,
�����&������$	���%�
��+�6��*6����/2(������/
!���=$��
	���%�
��,-���������$��	���-���)!�������$����$��
�$3(�$��	�$	��)�����/
���/
����� ui

� � x

x

e
eYob �

�

�

�

�
		
1

1Pr

 

������&� �
 ��$$��	�$	��	��,
�����$�(Logistic Distribution) 

   

            � �x��
	    (2.16) 

,������ � ��
 �/���?1�$�
��$��	�$	�������(Cumulative Distribution Function)����$	���%�
��
/�������������(Probability Model) 

   � 
 � �� 
 � �� 
xxx �� ����	 FFyE 110   (2.17) 

 

����� �!��� 

   
� 
 � �

� � �
�
�

�
�
�

�
�
�

�
�

	
�

�
x
x

x

x
d
dFyE

 

 � ����	 xf  (2.18) 

,������ � ��f �/���?1�$�
��/���+��	����(Density Function) *6��/
!��$��?1�$�
��$��	�$	�������
(Cumulative distribution) � ��F ��%�+���$��	�$	���$���(Normal distribution) ����� �!��� 

             
� 
 � ����	 �
�

�
x

x
xyE

            (2.19)  
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,������ � �t� �/��  ?1�$�
��/���+��	����$������4��� (Standard Normal Density Function)  

�%�+���$��	�$	��	��,
�����$�(Logistic Distribution) 

   
� 


� � � �21 xx
x

�

�

�
�

�

�

�
	

�
�


e

e
d
d x

 

      � � � �� 
xx �� �
��
	 1     (2.20) 

�-���8���&�"�	���%�
��,
����(Logit Model) �� �!��� 

� 
 � � � �� 
���
���
	
�

�
xx

x
x

1
yE

 (2.21) 

(Greene, 1997:874-876 �!��"������$��E������25�����, 2546:252) 

  

�%�+�����������(/���Berndt, Hall, Hall 	
��Huasman (1974) ��&��"�$�(�)��	���%�
��,
����
(Logit model)  (*6��	�$������$$�(�)��	���%�
��,-�����(Probit Model))   

 

 � �� �
�	�
i

iiiiy xx
2

     (2.22) 

*6������$��/%���(�����$*�/���	�����������$�����
����!�$%�$��� (Asymptotic Covariance Matrix) 

��7�+�6����$  

    � �
�
	 ˆˆˆ 1f �� �! 

 � � � � � �
�

�	��
�

�
��
�

� 


�	 ˆ1ˆˆ21

ˆˆ21
ˆ

dz
d

dz
fd

   (2.23) 

��������-����(Terms) ����=��)!��!��$���� �! 

� 
 � �� 
 � �� 
 � �� 
��� �
�� �
�� 
�
	 xx 21211ˆVar.
2

XAsy  (2.24) 

 

�
�
�
�
�
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\�\�����"���
�"��
*�����������������
���$$���6$3��
��� �1����������
���$��������"�"�$���)!���������$���
���������
�����55�)!��$
�
���+�!�)���$3��$��-����
���������$���;�����������������$����)!��,����2�
�����& 
�� �������*^��"�
� �D2546)� � �!�%�$���6$3�/��� �!������,�������������"��2���+$���
$�������$�������$���;��)�������� ��*6��$���6$3�/��� �!������,�������������"�
�2���+$���$�������$�������$���;��)�������� ��  ����$���6$3�������/��� �!������,��
�����������)���2���+$����������$���;��,��"
!	��/���!��2�$��"
!���-��$�"��������
(DRC) �����������$�������	
$��
��������( SER) -����"��2���+$����������$���;����/���
DCR/SER ��+�����9�-.�. 2540 – 2544��!��$����1 �2$=�9�	���"+!�+0������2���+$���$���
��
�������$���;�����������$��"
!�!��2�.��"���������%�$������ �!�2�7���$$�������$�*6��
+���/��������2���+$���$���
���������$���;����/��� �!������,�������������"�$���
���
+���$��$������$
�������$��$���������34$�������������7�.�-�"
!���-��$�"�$���
���!��$���
�������������������� �!�����$$�������$���������$���#2���"�$���
���������$���;������"+5�
/���������������'!���$��$�������#�
'$)6&���� �!.��"��������	
��&%���
*6���������#2������
"
!���$��$���
��$0����#�
�� �!.��"��������
�������$����
$���6$3�/��� DCR/SER 

��+�����9�-.�. 2540 – 2544�����$���0.80  0.87  0.92  0.88  	
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